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V&V Disposition and Status | OK

V&V Charge Time 50.04007

Comments

A spatial region of the original bias map for CCD = O suffered from
anomalously high data values. Pixels in the event data that were
bias-corrected by one of the original affected bias pixels may have an
apparent energy shift. While the change in energy is expected to be
small (720 eV), it depends on many parameters that have not yet been
fully explored for this bias anomaly. The bias map for CCD = O has been
reconstructed for this processing to remove this anomaly using scaled
data from a comparable bias map from another observation. The pixels
affected by the anomaly are bounded by sky coords:
(303.36928,-56.77043) , (303.36537,-56.76874) , (303.20830,-56.87857) , (303.2
1222,-56.88026)

This region includes a portion of the extended object.
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ra_targ |303.280208
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dec_targ| -56.89
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ra_nom | 303.25931406839

Nominal RA [deq]

dec_nom| -56.90736417181

Nominal Dec [deg]

roll_nom|51.924024533939
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revision |4

Processing version of data

ontime |50040.076913089

Sum of GTls [s]

livetime [49386.26646925
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ontime0 | 50040.076913089

Sum of GTls [s]

ontimel | 50049.499903738

Sum of GTls [s]
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[2events | 425515

Number of level 2 events
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